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0.50 0. 0000 0. 0800 96. 15
1.00 0. 0000 0. 0830 92. 19
1. 50 0. 0850 0. 0890 99. 45
2.00 0. 0900 0. 0920 99. 64
2.50 0. 1100 0. 0940 103. 49
3.00 0. 0950 0. 0970 99. 49
3.50 0. 1000 0. 1000 100. 00
4.00 0. 1000 0. 1040 98. 72
4.50 0. 1150 0. 1060 103. 16
5. 00 0. 0875 0.1080 92.24
5. 50 0. 1050 0. 1090 98. 38
6. 00 0. 1100 0. 1120 99. 14
6. 50 0. 0850 0. 1140 86.94
7.00 0. 0825 0. 1160 84.24
7.50 0. 1100 0. 1180 96. 09
8. 00 0. 0650 0. 1190 72.62
8.50 0. 0875 0. 1200 82.97
9. 00 0. 1300 0. 1220 104. 30
9.50 0. 1150 0. 1240 95. 06
10. 00 0. 1250 0. 1250 100. 00
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